SEVBRE

HE=A=1+—"HIFE
—ETE—F —ZTET-_F —TET=-F —_TTNF —ZTTAHF
BEETT BEBTT BEBIT AEBIT BEBTT
- 5,556.1 3,757.2 2,311.3 3,590.9 2,232.4
LR (E18) 568.4 120.5 (69.3) 176.1 (96.9)
B E A (1.1) (3.1 (5.9) (10.3) (16.4)
& B A B U ES — — — — 371.6
FEiREE & AT
HEZEH T LB = 30.8 5.0 30.6 34.2 263.2
B 5 A A (B518) 598.1 122.4 (44.6) 200.0 521.5
18 (80.7) (20.5) 0.1 (49.4) (35.7)
B > SR R 2 AT
i £ (E518) 517.4 101.9 (44.5) 150.6 485.8
DH R ER 9.1) 2.4 0.2 (2.9) (2.9)
MR (R R (B1E) 508.3 104.3 (44.3) 147.7 482.9
EEHEE
R=EA=+—H
—ETE—F ZTT-_F ZTET=F TTWOF —TTAHF
ER=- Yo BEET BEBET BEET BEBET
BEEBE 5,163.5 2,825.9 3,244.1 3,738.3 4,005.2
BEHBTE (3,553.4) (1,467.9) (2,008.0) (2,322.5) (2,018.4)
DH R S (28.0) (27.4) (26.1) (28.6) (29.3)
% B4 2 1,582.1 1,330.6 1,210.0 1,387.2 1,957.5

WRBEARRAR



